S 3 FE=MMK R EAHRERIN T PEE

( PEHRD, 202144 AHA1H~202243A31H )
[ WADH ] " H (47 F)
BB NLEERE | 2EEFTE 25 i %
1. AT4EEEIREE 1,597,174 2,021,416 424,242
PR | DB | 1564963 1990434) 425471} .
2) Bl 32,211 30,982 A 1,229
2. mitktmRftE 1,141,144 1,471,859 330,715
DiE=SEHB&E 920,900 908,400 A 12,500 ;B = H 5B &
(EEERRUES ERE%H50% 453,400
HER) RIS 57 £:20% 110X 135,000
HEREERE 160,000
[ R b B AL e 160,000
(E2BHREFEEE)
2 EEHFBNE 0 10,000 10,000(FEL 10,000
(InELER5y)
3R & 180,000 120,000 A 60,000\ B #AEEBEEE 8000
(AL - EHEHEEY —EX) ’
kiR EE 30,000
A ERREE 30,000
REFBRIVTATHEE 30,000
4) N —HiBh & 0 21,800 21,800|f& fik /Ny —HF 21,800
5) P A2 40,244 411,659 371,415 | S ()R 2%
st 164,820
o el 6839
R BHEEH 240,000
3. B 0 400,000 400,000
4. FOAMILA 256,130 130,010 A 126,120/ FEAR
BELSHCAES 100,000
#*ELBECAEE 10,000
BRIEILA & 20,000
& T 10
T E & F 2,994,448 4,023,285 1,028,837




[ XHDE ] (BGL; D
X W BB 4EEIE | AFETFR | B W i =
3R % (BEEDH) 700,156 987,000 286,844
AR | 1) HugD<0ER 54,851 150,000 95,149| FH THu B 50,000
FeERHHE 20,000
Ny —H 80,000
2) TR BER 33,270 190,000 156,730 | mrtn & Hulsli e 2 &\ 328 6000
(EE2E R E )
R EEE 30,000
N ELNEEES 0 97,000 97,000 HigkD R L% FHHZE 30,000
FltnL ek FrEE 30,000
REFBRTVTAT HE 37,000
4) EHEELARDDER 31,245 170,000 138,755\ ¥ Bh & B IR 2K 40,000
BHPHEFE 100,000
A EREFE 30,000
fTHFHEHEE SR 25 0
5TV EE 400,000 100,000 A 300,000\ =FnHh X1 Bh Ak & 100,000
6) FYRT—ZER 160,000 160,000 0| &R NI =T ~DBI &
TIE W 20,790 120,000 99,210 (IR THIBEHDZ
2.8 H 29,389 50,000 20,611 | BIELRAITARET DX H
3. X% 10,000 50,000 40,000\ B FESNERHEIZBE DD
4, OF & % 3,000 260,000 257,000 [+ DBFE & OB E A ~DHFHE TRE
5. HE R 60,243 150,000 89,757 | M X #LHh IS ENIT RO TREE R O ES B R #e
6. YLAARE 40,244 411,659 371,415 Hh K+ rR HERFIZBE D B3 HY
7. £FEBIRR 4 130,000 110,000] A 20,000(BEE HAE~DIET)BI L&
REREZBH#HER 20,000
HRMEANI 7 EE S =ML 20,000
FEREZERRDHRS 20,000
EAER#ELES | 20,000
DB REE A M 10,000
RAETRUWEHEER 10,000
BOEHEKER 10,000
8. F fifi & 0| 2,004,626 2,004,626
HFREXHEF 973,032 4,023,285 3,050,253
WA ERBE
20214E EE Totali % AR
MBS B i




THREE I THVXIER FPEE

IRADE B[
IHE H F H & AIEEFHEEE [ A 27 & &

1 ATEEHEBE 385,011 169,830 215,181

2 A = £ 20,000 20,000 0

3 E H =2 600,000 600,000 0

4 WGBS 0 300,000 A 300,000

5 #h X %t % 100,000 100,000 0

6 3 I A 1 2 A1
& &t 1,105,012 1,189,832 A 84,820

XHDER B[
1B H ¥ HE & HIEEFHEE A 2 w &

1 1 % #& BN 600,000 580,000 20,000

2 ZNEHTEHE 100,000 80,000 20,000

3 a—Fah—s—iRER 100,000 100,000 0

4 a—Fr—s—EHE 20,000 20,000 0

5% B & 115,000 110,000 5,000

6 & & # 10,000 10,000 0

T2 #E OB 40,000 40,000 0

8 i m & 30,000 30,000 0

9B #H £ 0 200,000 A 200,000

0% FE & 90,012 19,832 70,180
a &t 1,105,012 1,189,832 A 84,820




